R e WY

1. T2

1) HIFRREL f (x) FE5E XX [8] P Ab Ak 4.

2) ZEMHB: Blimgeo=b (g9 =b), limfu)=A, U
lim F[g(0)] = lim T (u) = A

3) lim f(x)=a HIFREFMH: lim f(x)=lim f(x)=a.

4) limf()=aBIFBEFHEN: lim f(x)= lim f(x)=a.

5) A% PR f IO iz 2.
6) «“O7» «®r Fuwm kN,

: B Wi 1 7] i ZiR %3



2. iR WIEEN Rt ER R B GE
1. & lim[x - x? ln(l+§)].

X—>00

A s i

x—o X 4+ S1n X

N B NI I Gl 06 S D
L T REHE

1

B
2 °

f1 3. 3K lim

Xx—0 X

AR S 1 3 R 4/ 5 S



2@, THE T AIHRER:

1)
2)
3)

4)

°
b

. Xsarctan X
Iim

x>0 X —sm X

°
b

G




3. IFRVTHE P IS5 /MRS
HEFFFEES, HREADNOHETFERH,
“0 BT fEEM L5 /MU, “0 MR H7HAL.

15]4 I‘I‘ﬁhme —SIn X — COSX

x>0 1_./1—sin2 X

e’ —sin X — cos X

wlhly 13 3 e «9» 1)
% Ao e e (S 04 N ; i)

:hnge —Slf“;; 82 +1+sin’ x) ( “ORRR” HE)

X—> sin

_21imeX —sinx—cosx CEREZEEH “JE0FEF” £HH,
¥ X—>0 X2 “OE ?” 1?%1“%93']‘4&1’&)
:lxifole —cosxx+s1nlexi£%e +Sln1)(+COSX=2(5§LZ‘itiz"§ﬂ|])

. B Wi 1 7] i ZiR %3



4. PRI E A TS ARV

1) “po=etBz” HH4L.

) ety 05 s e S

3) Rx->oBTHIHKIR, 7F, FBEFEBERELD T,
3B B o UORSK A EAF R “ RSk ).
Frig “3MRk” BiRIMERT x BB E R,
M H R R TES F. 4

. aX'+A +ax+a, .. aXx
lim - = lim -
x>0y XU 4+ A +bX+b, *><b_ X

VE b th——O hmln—x 0 (n NIEZED), 3 x — +o BT,

X—>+00 e X—>+00 X

AiKe A x ITEFTRIKEE, A x K] 0 KFE.

\_l

n

- B Wi 1 7] i ZiR %3



%1 5. THETFIHRR:
1) ;

AR 2 1 S 1/ S S



5. limu" ( “17,0% 0°” &) IR FIX
In(lim u") =lim vin u

Heppy “1° 7 2, e Hfde i%:
¥ limu(x) =0, limv(x)=cw, NI

m( 1+u)” =m[( 1+ u)ﬁ]uv _ glimuv
% 6. THE T HIMIR:
1 ; 2)

3) Im (COS X)Xsfnx

Xx—0

7 B ER . GEE. TR GhK #




Bl 6. THE T HIMKMK:

3) lim (1 — arctan X)m ;
I ln(z —arctan X)

S ST L T
2. Inlim (——arctan X)"*= lim

) X—>+00 In X
. | | . s
= lim (— =)-X = lim i
Q0 T + X X—>+00 T
S ELd aretan o L rarltan X
9
| 1 5
=—lm —-(1+x")=-1
Xx—>+o0 X

1

A e e A
lim (——arctan X)"* =—
X—>-+00 €

. B En 1 7] i ZiR




6. FIASH
Bl 7. B Ex) T

7E X I T HAR R

Ex=akbAl R, Hix>0, XK
m[f(a+%)/f(a)]“.

. f(a+:]) . f(a+r1])
ﬁg;ln}gl;[ f@ | :}glgnln @
f(a+l)— f(a) f(a+1)— f(a)
= limnIn[l+ ! = limn i
N—>c0 f(a) N—>0 f(a)
|
f(a-l-—)— f(a) ' '

LT sy n _ '@ e (@)
Y@ 1 T et
. B tﬁ? A | Vi 4R

1.



6. FIAHSHEXN T ERR

Bl 8. W f(x)FER x, AHF P8, KRR
limf(x ) =28 ()X —h)

h—0 h2

RPN So R — RIS IEEN.
ER: BB SE o0 7R A x, AESEA A, A AT
IR 1% s v ).

10 B

T
=

1 1] i PN i3




6. FIRFHENVITERIR

Bl 8. B f(0) R x, A/ 228, KR
},in(} FO%, + h)—2fh(2xo)+ Rx,—=h) ]

f(x,+h)=21(x,)+ f(x,—h)

f#: lim

h—0 h2

et f'(x, +h)—f'(x, —h)
h—0 2h

=liml[f (Xo +h)_f (Xo)_|_ f (Xo _h)_f (Xo)]
0 2 h —h

o f”(XO)

- B Wi 1 7] i ZiR




7. M AZ R mH AT EHRER
B 9. HEAER lim @/x® +3x% —4/x* —2x°).

X—>+00

2. lim QX +3x% —4x* —2x%)

X—>+00

— lim X 3,/1+——4 1——)

1

—11mx1+ +o( ) (1——+o( )]
X—>+400 X 27X
= lim X[i+0( )] 1 0( )
BT X J&55 /8 | lim Xo(—) = lim T =0
A hm [g-l—o(l)] _é X—>+00 X X—>+00 B
X—>+0 ) D X

= B Wi 1 7] i ZiR %3



8. AP EEEITERR
510, HEAEFR xﬁB}oo X [In arctan( X + 1) — In arctan X].

B: In arctan(X +1) —In arctan X 2
1 1 T
:arctan§.1+(§2 it It S [
1 i

X’[In arctan(X +1) — In arctan X]=

arctan & 1+ &

> —> 1 (Ex—off)

X2 X2 X2

il < <
L RS b
HRBIER

lim X’[Inarctan(X +1) — Inarctan X] = o

X—>+00 72.

- B Wi 1 7] i ZiR

| 1 and




9. HHBITR R

1) Flhim (0= A, MIE—HFIx, >a(x, #2), 8
FD s

2) R
3) Bk w (X)) &E[0,]1] BiEs:, NEFE

n

limy L f(%) :jolf(x)dx,

N—o0 | N

11, >k limtan”(z+%).

N—0 4

= B Wi 1 7] i ZiR %3



112. WA (R
B2 HEREIR il o A ]
, n n n
e = i AT ,
W X, (n+1)*  (n+2)’ (n+n)’
n n n
Y, = 2 SHA=r :
(n+DH(n+2) (n+2)(n+3) 2n(2n+1)
n n n
Z = e AT y
n(in+1) (n+1)(n+2) (2n—1)-2n
Wy, <x,<z,, B
limy, =limn( I, ):l, limzn:l,
e el ) 3o 2 L CH LRl e 2
P n n N . 1
lim|[ SR ~]=limXx, =—.
- (N +1)° (n +2) (n+n) N—o0 2

- B En 1 7] i ZiR 3



B12. FHEAEFR m] L ekl iy 27T

> (14 1)? +(n+2)2 G O
B : lim[ n2+ n2+A+ n2
Deese =R A2 (N+n)
=1imzl ll
N—o0 Al n (1+_)2
o) ;
0 (14 x)*

lim il f(l)zj;f(x)dx

n—o0 i1 n n

- B Wi 1 7] i ZiR 3



cH

BEE. KRB LL@OZL\/H—— 4 ]

1E 1+——1—\/n +1— i
n* n n(\/n +|+n)

n(\/n ST n(\/n +i+n) S o

AR A 1 3 R 4/ 5 S .



BEE2 B im0+ )0+ L 1+ D]

f: In }]111510[(1+—)(1+—)L (1+—)]1

=11mzn:1 ln(1+—) j In(1+ x)dx

=[(X+D)In(1+X)-Xx],=2In2-1
o o
e

= B En 1 7] i ZiR 3



